
1.866.529.7664  www.lawsonproducts.com

NOTE: Bottom of backplate represents front of LP drawer.
© 2010 Lawson Products, Inc.   Printed in USA (1/10)Serviced only by

Metri-Torq® Capscrews, P.C. 10.9, Coarse Thread

A20 / A20BL

LP240 / LP240BL

M6 x 1.0 
Hex Nut

83525
*83525*

M10 
Flat Washer

87511
*87511*

M6 x 1.0 x 40mm

4271
*4271*

M10 x 1.5 x 25mm

82148
*82148*

M8 x 1.25 
Hex Nut

83526
*83526*

M12 
Flat Washer

87512
*87512*

M8 x 1.25 x 15mm

4281
*4281*

M10 x 1.5 x 30mm

4293
*4293*

M10 x 1.5 
Hex Nut

83527
*83527*

M6 x 1.0 x 12mm

4265
*4265*

M8 x 1.25 x 20mm

4282
*4282*

M10 x 1.5 x 40mm

4294
*4294*

M12 x 1.75 
Hex Nut

83528
*83528*

M6 x 1.0 x 15mm

4266
*4266*

M8 x 1.25 x 25mm

4283
*4283*

M12 x 1.75 x 25mm

82152
*82152*

M6 
Flat Washer

87508
*87508*

M6 x 1.0 x 20mm

4267
*4267*

M8 x 1.25 x 40mm

4286
*4286*

M12 x 1.75 x 40mm

80214
*80214*

M8 
Flat Washer

87510
*87510*

M6 x 1.0 x 25mm

4268
*4268*

M10 x 1.5 x 20mm

4292
*4292*

M12 x 1.75 x 50mm

80215
*80215*

PHOTOS NOT ACTUAL SIZE


